&

S pem= g (X3t

2
RN
-2 (xeEV -2
= 7.(1'*’3);'};““ ‘g"‘
[y(d,’ xr-;{*

)= { ku@fdkémgéﬁzﬁwm} -

e )3 -

%

g} - z<x~§}(/(+-_‘£‘>:-({2x«-a}{%ﬁ} .

\

;.'-»w
i
¢

!fwts‘é‘a varde = — g

s

S

arb = (-3, 0L,
+ | = \’{32}!@- 3"

AF k] U] cos B

St w;g;a&aéé-

oo rede M&‘:f;

~! = o V5 cosd

-2 1 4 de 2 m ‘ r o
orccos (N5 )~ _28°

&~ =

ey

- 3 el K S5 =5
ped 4%y
2 \5 - |
((’Ay L = XFM()i&——“‘Qy*; =K
PRCILED 2wt e
bwl= V22t 47 Vel = ¥F
1
W= Q2+
4 4 -y , .
Z/f?’ “~//"’"?7§{)2*35? 22 ~F iy -ty
a - Tawijtawis 440 =2 +2)
— /?éZ{Jf'

5

e

24 5’:
P =2

@ coswmarsatsen. acr \
z .

2 cle 23 23 md - Aie F €
= 13 = sz cosl0”

C,.rmz‘/,:s/

éfﬁ?rﬁ&%:
=4:2-35m 20 | 53

Smansatsen S @ gwmze’
Y = 7,81
g * * 3 5' »
g={ émj undcd)zié’0~ar£ﬂ.5<-,‘,f waot |
= ’/’?19’ “"l; 724 24°

3 e w.,&oa. afé’d 20~ 28= ,gz

(a=i1siner) — Laleer) = Ao (2r~3)
©, » Z

=) K1 = 2i-3 &= u

g (CXED o g tak-3) > Ly (i) = grey)

Cxeit)

X

F 4 - A X
& 2 22 zg 4w ebro=C G
.2.¢1K:'é LD 2(!' 4 E> k= X

k-
s
@ 5(’721:: ;}:: 22
Y Semze = o 1) Stee= = z
~ 2x= Jﬂ«rz-zﬁ“ -y zy:-—lsf—fn-‘zi'}'
- EE,,"}T !,-E; - miT
&, 2 = 37 - ? n b/ 2x > /7-—(—};11— 2T
V4 ) 7 e
X e fa‘—nff & = %L_,.,,.,,
(B Skris potaré: _
R A N o K TR . L
- 227 zzé.‘(—;f*rz')- 20T (on T S 5T
. T 2N .
:—3&5’&12 e - =z =re’ Ldr »

i -
;= {trwr\-g’ , mEe L 9

36= 30+ naff  ech & ,
/AT a0 - IT, wr_ 127
&-%q 47zt 573 ;%7 4T 3
Z7 S e
z’:m‘e*/ o, =rze s vx
2 9y i
7 = ¥z & —
N /{i
~ £ )




